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1.	From the view above you can see a ...
a. Yellow river
b. Blue pool
c. Green puddle 
d. Orange lake

2.	The bus was ...
a. Stopping
b. Swerving
c. Bouncing
d. Starting

3.	From the view above you can see a ...
a. Dog
b. Cat
c. Goat
d. Horse

4.	The bus was ...
a. Red
b. Broken
c. Small
d. Busy

5.	How many children are running for the 
bus?

6.	Does the dog have a soccer ball or a 
baseball bat?

_____	 1.	The pool was big.

_____	 2.	The dog was large.

_____	 3.	There was a box.

_____	 4.	There was a cat.

_____	 5.	The dog is lazy.

_____	 6.	There is no bus.

QUESTIONS

TRUE OR FALSE?

WELCOME TO READING

What Is That?
What do things look like from above? These real-life 

photos will show you. Read What Is That? to learn more.

What did you learn?
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ANSWERS

TRUE OR FALSE? ANSWERS

1.	b. Blue pool. According to page 3, we 
know that “That’s a pool. That’s a big, blue 
pool.” So, the correct answer is B. 

2.	c. Bouncing. According to page 5 we know 
that “That’s a bus. That’s a busy, bouncing 
bus.” So, the correct answer is C.

3.	a. Dog. According to page 7 we know that 
“That’s a dog.” So, the correct answer is A.

4.	d. Busy. According to page 5 we know that 
“That’s a bus. That’s a busy, bouncing bus.’” 
So, the correct answer is D.

5.	As you can see on page 5, there are three 
children running for the bus.

6.	As you can see on page 7, the dog has a 
soccer ball.

1.	True. According to page 3, we know that 
“That’s a pool. That’s a big, blue pool.” So, the 
correct answer is True.

2.	True. According to page 7, we know that 
“That’s a dog. That’s a large, lazy dog.” So, 
the correct answer is True.

3.	False. According to page 5, we know that 
“That’s a bus.” So, the correct answer is False.

4.	False. According to page 7, we know that 
“That’s a dog. That’s a large, lazy dog.” So, 
the correct answer is False.

5.	True. According to page 7, we know that 
“That’s a dog. That’s a large, lazy dog.” So, 
the correct answer is True.

6.	False. According to page 5, we know that 
“That’s a bus. That’s a busy, bouncing bus.” 
So, the correct answer is False.


